

Contents lists available at ScienceDirect

Landscape and Urban Planning





Research Paper



The presence of wind turbines repels bats in boreal forests

Simon P. Gaultier^a, Thomas M. Lilley^b, Eero J. Vesterinen^a, Jon E. Brommer^a

^a Biology Department, University of Turku, Finland

^b Finnish Natural History Museum, University of Helsinki, Finland

HIGHLIGHTS

• Presence of Eptesicus nilssonii and Myotis spp. are higher further from wind turbines located in forests.

• The avoidance of wind turbines or their surroundings could mean important loss of habitats for bats.

• Bat activity at wind power sites in forests varies with night length and season in the boreal zone.

• Mitigating this avoidance effect in current and future wind farms requires stronger regulations in Finland and the rest of Europe.

ARTICLE INFO

Keywords: Wind turbine Bats Avoidance effect European boreal region Wind power planning

ABSTRACT

Impacts of wind power on bats are usually evidenced by the recorded fatalities, while other impacts are not well understood or considered during project planning. However, wind turbines may affect use of the surrounding habitats by bats. Little is known about such impact, especially in the European boreal biogeographical region. We studied the consequences of operating wind turbines on the presence and activity of bats in forests. We simultaneously monitored bat acoustic activity at 84 sampling sites placed at 200 m intervals from 0 to 1.000 m (2 recorders per distance class), over four months and at seven Finnish wind farms located in forested habitats. Our results show higher presence and activity at 600 m and further from turbines for Eptesicus nilssonii, and higher presence at 800 m and further for Myotis spp. We also saw an increase in bat activity during midsummer, which may be due to increased use of forest canopy cover during the short nights at this time. These results indicate a potential loss in habitat quality around wind turbines, e.g., a greater number of open areas in forests unfavourable to certain bat species. This lower activity and presence could also be an indication for active avoidance of the wind turbines from the bats. Furthermore, these results are the first of their kind for Eptesicus nilssonii, and for the European boreal biogeographical region. They show undeniable impacts of wind power on bats in Finland, and enforce the requirement for better consideration of bats during the development of such projects in Finland. Similarly, these results show impacts of operating turbines on habitat use by bats, impacts that now must be considered in Europe. We also call for investigation on the causative mechanisms of the observed effect, to better facilitate mitigation.

1. Introduction

Wind power is playing a substantial role in the transition to clean energy production in many countries (Ember, 2021). Being a renewable source, the exploitation of wind does not generate pollution (Edenhofer et al., 2012). Unfortunately, developing and operating wind farms can still have negative impacts on landscape, human health, environment or biodiversity, and thereby lead to lower social acceptance of wind turbines or damages to fauna and flora (Buchmayr et al., 2022; Dai et al., 2015; Saidur et al., 2011). The impact of wind power on bats have been known for decades. Fatalities were first reported in 1972 and have since been intensively studied. Affected species, seasonal peaks and the influence of weather conditions on bat fatalities have been largely described, at least for Europe and North America (Hein & Schirmacher, 2016; Rydell et al., 2010a). Bats are also affected by habitat destruction during the construction of wind farms, with the potential loss of important features for roosting, commuting, or foraging, such as wetlands or hedgerows (Gaultier et al., 2020; Reusch et al., 2022). Knowing all the characteristics of these impacts have since led national and international

https://doi.org/10.1016/j.landurbplan.2022.104636

Received 3 June 2022; Received in revised form 3 October 2022; Accepted 8 November 2022 Available online 9 December 2022.

0169-2046/© 2022 The Authors. Published by Elsevier B.V. This is an open access article under the CC BY license (http://creativecommons.org/licenses/by/4.0/).

E-mail addresses: simon.s.gaultier@utu.fi (S.P. Gaultier), thomas.lilley@helsinki.fi (T.M. Lilley), ejvest@utu.fi (E.J. Vesterinen), jon.brommer@utu.fi (J.E. Brommer).

organisations to propose guidelines and measures on how to correctly plan wind power projects in order to avoid or minimise impacts on bats (Rodrigues et al., 2015). Such mitigation measures include avoiding construction close to known bat roosts or other important features and installing curtailment on wind turbines to decrease the risk of fatalities, or designing wind farms with an intent to reduce their footprint on habitats (Gartman et al., 2016a, 2016b). These measures are far from being completely respected by wind power developers, even in developed countries (Barré et al., 2018; Voigt et al., 2022). Most of all, these measures are not always enough to mitigate impacts of wind farms on bats, because the mortality is still taking place and very difficult to offset (Hayes et al., 2019; Rodrigues et al., 2015; Voigt et al., 2015), especially when cumulative impacts of several wind farms are considered at a larger, landscape scale (Roscioni et al., 2013).

While possible causes of fatalities have been investigated (Cryan & Barclay, 2009; Guest et al., 2022; de Jong et al., 2021), the phenomenon known as the avoidance effect appears seldom in peer-reviewed literature. Most of the research on this topic has been conducted in Western Europe, on both small and industrial-sized turbines (Barré et al., 2018; Ellerbrok et al., 2022; Leroux et al., 2022; Millon et al., 2015; Minderman et al., 2012, 2017; Reusch et al., 2022; Richardson et al., 2021; Roeleke et al., 2016). A similar effect has also been observed in the Pacific islands (Millon et al., 2018). Most of these studies show that bat acoustic activity close to wind turbines is lower than further away from the turbines, indicating that habitat around turbines appears less attractive or are even avoided, or that wind turbines are directly avoided. By doing so, presumably suitable habitat around the turbine is effectively lost to bats (Reusch et al., 2022). Moreover, all species, regardless of their sensitivity to wind power related mortality, can be affected by the avoidance effect. While collisions mostly impact migrating, open space or edge space foragers such as Pipistrellus nathusii or Nyctalus noctula, species considered as narrow space foragers, such as bats in the genuses Myotis or Plecotus, have shown to be also affected by the avoidance effect (Barré et al., 2018). Moreover, the reasons for avoidance are currently unknown, although e.g., distance to hedgerows could play a role (Leroux et al., 2022), while turbine lighting and noise emission have also been proposed as possible causes (Barré et al., 2018; Leroux et al., 2022). However, literature on this topic is still scarce, and sometimes contradictory (Richardson et al., 2021; Leroux et al., 2022), meaning the phenomenon is not fully understood and deserves more attention. A better comprehension is required if efficient efforts to avoid or mitigate the problem are to be made.

While most data have been collected in agricultural landscapes of Western Europe (France, United Kingdom, Germany), the avoidance effect has so far not been studied in other landscapes or regions of Europe. In particular, there is no data for the woodland-dominated European boreal biogeographic region (Sundseth, 2009). Moreover, the impacts of wind power on bats in this part of Europe have not been studied in detail, even though especially the coastal areas of the Baltic Sea are considered to be of great importance to bats (Gaultier et al., 2020; Ijäs et al., 2017). This is particularly true for Finland, where there is almost no literature on impacts of wind power on bats (Aminoff, 2014; Blomberg, 2016; Ijäs et al., 2017), despite an important development of wind power in the country currently (Wind Power in Finland, 2022). Therefore, obtaining any data on impacts of wind power on bats in this part of Europe is of great relevance right now, and could favour the conservation of bats in the countries there.

Here, to understand whether and how bats respond to the presence of wind turbines in the boreal forests, we studied bat acoustic activity of the most common species (*Eptesicus nilssonii*) and species group (*Myotis spp.*) in Finland, at a landscape scale, up to 1,000 m from operating turbines. The study made use of passive recorders to sample bat activity at 84 locations simultaneously, at seven wind farms located in wood-lands on the western coastline of Finland. Acoustic sampling took place every night for almost four months, allowing us to collect a large dataset. This landscape and region were chosen because of the tendency for

Finnish wind farms to be built there at the moment (Asko Ijäs, personal communication, March 30, 2022). We hypothesised that bat presence and activity would correlate positively with increasing distance from wind turbines for observed taxa. Finally, in view of our findings and other recent research, we expressed the need for stronger regulations and their enforcement regarding the loss of habitats for bats due to wind power in Finland (Blomberg, 2016; Gaultier et al., 2020; Ijäs et al., 2017) or in Europe (Barré et al., 2018; Leroux et al., 2022).

2. Materials & methods

2.1. Study sites

Data were collected at seven wind farms located on the western coast of Finland, in the regions of Ostrobothnia, Satakunta and South Ostrobothnia (Fig. 1) All wind farms consisted of 5 to 34 wind turbines (mean = 15) with a mean height of 206 m at the highest tip of the pale (standard deviation = 4.4 m), and a mean rotor diameter of 136 m (standard deviation = 11.2 m). The distance from the wind farms to the coastline was between 2 and 18 km, with an average distance of 10 km (standard deviation = 6.2 km).

We decided to include canopy cover in our analysis, using three classes: [x > 95 %], [95 %>x > 50 %] and [x < 50 %] where x is the percentage of area covered by tree canopy, regardless of their species, in a 150-m radius around the sampling point. In our study area, forest patches were of a similar age (mean = 49.33 years old, standard deviation = 12.32) and similar composition (deciduous tree cover mean = 9.95 %, standard deviation = 7.85 %), which is representative of the forests of Finland and the rest of the boreal region (Luke, 2017), therefore we did not include these two parameters in our analysis.

2.2. Sampling design

We studied bat activity along forest edges or forest roads, with a distance gradient of 0 to 1,000 m from the nearest wind turbine. These features are important to bats as commuting routes, and a higher number of bat species are likely to be found using these habitats for foraging with both close-space and open space habitats present (Vasko et al., 2020). Moreover, wind farm construction contributes to the creation of some of these open areas in forests when roads and pads are cleared for the turbines.

We sampled six distances (0, 200, 400, 600, 800 and 1,000 m) to the nearest turbine in duplicate at each wind farm (Fig. 2), adding up to 12 sampling points for each wind farm, and adding up to 84 points in total. We recorded bat acoustic calls at all 84 points every night, starting June 1st, 2020 and ending between September 10th and 20th, 2020, depending on the recorder (16 weeks).

Sampling commenced 30 min after sunset and was concluded 30 min before sunrise, with 5 min recording periods alternating with 10 min of sleep. The length of night varies considerably in Northern Europe, shifting from lasting twilight in June (mean = 5.42 h) to full nights towards the end of our sampling period (mean = 11 h) in September. We used AudioMoth recorders (Open Acoustic Devices, version 1.1) at every sampling point. Each recorder was strapped on to a tree along an edge, at around 2 m from the ground, with the microphone facing an open area (road, path or clearing).

2.3. Bat call analysis

We used Kaleidoscope (Wildlife Acoustics) for automated identification of bat calls, before proceeding to manual verification of the identifications. Signal detection parameters were the following: frequency range between 8 and 120 kHz, detected pulse length between 2 and 500 ms, with a minimum number of pulses of 2 and a call sequence maximum length of 5 s.

A sample of E. nilssonii calls was manually checked to assert the



Fig. 1. Localisation of the seven study sites (black diamonds) and their position in relation to close major cities (grey dots) and the capital (grey star).



Fig. 2. Duplicate sampling points at a single wind farm. All points were sampled during the whole sampling period. Most of our sampling points were located on the perimeter of wind farms, especially for the "away" points, as it was easier to avoid the proximity of other turbines this way. Wind turbines are represented by black diamonds, acoustic recorders by orange dots. Circles around each turbine represent each sampling distance (200, 400, 600, 800 and 1,000 m). Background map is from Open Street Maps 2022. (For interpretation of the references to colour in this figure legend, the reader is referred to the web version of this article.)

reliability of the auto-identification. Thus, we decided to validate all *E. nilssonii* calls with a confidence value superior to 0.2 provided by the software, and discarded the rest. Because the software is not reliable with the identification of species of the *Myotis* genus, and furthermore, the manual identification of their calls is complex, we decided to pool and analyse all *Myotis* calls as a group. Calls of other species identified by Kaleidoscope (*Pipistrellus nathusii*) were manually checked.

2.4. Statistical analyses

The estimation of bat abundance is not possible with acoustic monitoring. Therefore, we opted to assess bat activity at each site, using the positive minute as our unit of measure (Vasko et al., 2020). Here, each minute with at least one bat call is assigned as "positive" for bat activity. Then we pooled positive minutes per week because of the expected temporal variations in bat activity in the boreal zone, something that would be more visible with such pooling.

We analysed the number of positive minutes during one week as a

response variable with two separate analyses. Both analyses were run independently for *E. nilssonii* and calls of *Myotis* spp., our most common species at our sites. We did not have enough calls from other species to run the models. First, we analysed whether there were calls recorded (presence) or not (absence) per site in a mixed model with binomial errors. Second, we analysed the number of positive minutes per recorder in a mixed model testing for the fit of the following distributions: (1) negative binomial, (2) zero-inflated negative binomial; (3) Poisson; (4) zero-inflated Poisson. Using the R package glmmTMB (version 1.1.4; Brooks et al., 2017), we compared the models with the chosen distributions using Akaike Information Criterion (AIC) and degrees of freedom (DF), showing that the negative binomial distribution, with week and distance as factors, fit the data best (Appendices A and B). It also showed that pooling the activity per week was best to fit the data.

The ID of Audiomoth recorders and the ID of wind parks were assigned as random effects in all models. Fixed effects were (1) recording time per recorder and per week (in minutes, with or without bat calls in it) standardised to a zero-mean (2) distance of the recorded calls to the wind turbine as a factor; (3) canopy cover as a factor with three classes and (4) week of the recording coded as a factor (1 to 16). The models were implemented in glmmTMB (Bolker et al., 2009; Brooks et al., 2017) in R 4.1.2 (R Core Team, 2021). The intercept of the models reflects the expectation at a distance of zero (i.e., at the wind turbine) in canopy cover [95 %>x > 50 %] for the average recording time. The models statistically take into account differences due to recording time (reflecting night length), habitat, seasonality (fixed effect: week) while the random effects take into account the non-independence of observations from the same recorder and from the same wind park. Hence, our primary interest is whether the models' estimates for the different classes of distance from the wind turbine (200 m, 400 m, 600 m, 800 m, 1,000 m) significantly differ from the expected value at the wind-turbine (distance = 0 m; the intercept). Significance of these contrasts were tested using a Z-test of the model estimates.

2.5. Habitat loss

We estimated the area avoided by bats per turbine, and for all current and planned wind power projects in Finland up to June 2022. Information on wind farms in the country is publicly available on the website of the Finnish Wind Power Association. We used the observed range of avoidance (800 m for *E.* nilssonii, 1,000 m for *Myotis spp.*; Fig. 3) to determine the area avoided around each turbine by each species or group of species. Then, we calculated the proportion of area impacted by the presence of turbines in Finland, for all current and planned turbines.

3. Results

Overall, we recorded more *E. nilssonii* activity than *Myotis* spp. at our sites, 37,541 positive minutes (4.79 % of total recorded time) and 4,857 positive minutes (0.62 % of total recorded time), respectively. We also recorded *P. nathusii* (200 positive minutes, 0.03 % of total recorded time). In addition, we did not see significant variation in presence and activity based on canopy cover, but we observed numerous significant variations in presence and activity depending on the week (Appendices C, D and E).

Using presence/absence data, our results indicated significant differences in species presence at differing distances from wind turbines (Fig. 3). For *E. nilssonii*, presence at 600, 800 and 1.000 m was significantly higher than presence at 0 m from wind turbines (Fig. 3). Presence of *Myotis* spp. was significantly higher at 800 and 1.000 m from wind turbines (Fig. 3).

Using activity minutes (i.e., the quantitative number of positive minutes), only activity at 800 m was significantly higher than activity at 0 m in *E. nilssonii* (Fig. 4). Activity of *Myotis* spp. did not differ from the intercept at any distance from wind turbines (Fig. 4).

The results of these models allowed us to estimate the cumulative area lost due to the presence of wind turbines in Finland, reaching 0.66 % and 1.03 % of the total area of Finland for *E. nilssonii* and *Myotis* spp., respectively, only for currently operating wind turbines (Appendix



Fig. 3. The expected probability to record one or more echolocation pulses per week as a function of the distance from the wind turbine. Plotted are the back-transformed estimates of a mixed model with binomial error (Appendix C) for (a) *E. nilssonii* and (b) *Myotis* spp. The mixed model takes into account the effect of the recording time, seasonality and habitat differences (Appendix C). Error bars denote approximate 95% confidence interval computed as 2 times the SE of the estimate (Appendix C). Dashed line indicates the expectation at the wind turbine (distance of 0). Error-bars that do not overlap the dashed line indicate a significant deviation (see Appendix C for formal test statistics). A "***" symbol means a p value between 0 and 0.001, "**" for a value between 0.001 and 0.01, "*" for a value between 0.01 and 0.05, "." for a value between 0.05 and 0.1, " " for a value between 0.1 and 1.



F). If all projects ongoing are included, 4.38 % and 6.85 % of all Finland i

4. Discussion

because of wind turbines (Appendix F).

Our study is the first to investigate and demonstrate the avoidance effect (i.e., the avoidance of wind turbines or their surroundings by bats) in the forests of the European boreal biogeographic region, thus providing new data on the impacts of wind power on bats. Our study also shows the potential extent and consequences of this avoidance effect, i. e., the loss or fragmentation of vast areas of habitats normally used by bats.

would be avoided by E. nilssonii and Myotis spp., respectively, only

Regarding overall bat presence and activity at our 84 sampling points, *E. nilssonii* was present over the largest number of sampling weeks, and was the most active species, which is not surprising as it is considered the most common species in Finland (Tidenberg et al., 2019). Despite being able to forage in open space, *E. nilssonii* is mostly active at low height, which implies our sampling design allowed us to obtain a comprehensive view of the species' acoustic activity (Blomberg, 2016). The *Myotis* genus comprises six species present in the country, including common species within the study region such as *M. daubentonii*, *M. brandtii* and *M. mystacinus* (Tidenberg et al., 2019; Vasko et al., 2020).

Our results show that the presence of both *E. nilssonii* and *Myotis spp.* are affected by the proximity of wind turbines: both taxa increase in presence with increasing distance from the turbine. These results indicate that the presence of wind turbines have a repelling effect on bats within a range of at least several hundred metres around each turbine. This is also the first time that avoidance is shown specifically for *E. nilssonii.* Results on the presence of this species at 800 and 1,000 m could indicate the tail end of the avoidance effect, and that at this distance from wind turbines, we could expect to see the unaffected acoustic activity level of this species. In contrast, we believe this is not the case of *Myotis* spp., and that avoidance could be effective at greater distances than sampled in our study.

As shown in Appendices C and D, presence and activity of bats in forests varies a lot during our survey period and correlates with the distinct variations in night length and darkness at the latitudes the study was conducted. The night is at its shortest and brightest during the summer solstice, leading *E. nilssonii* to utilise habitats offering the best cover and darkness, forests, in order to avoid predators (Rydell, 1989, 1991, 1992; Vasko et al., 2020). After the solstice, the nights grow longer and darker, and *E. nilssonii* progressively return to more open habitats (Ijäs et al., 2017; Rydell, 1989, 1991; Vasko et al., 2020). The second increase of activity at our sites in late summer and autumn could

Fig. 4. The expected number of minutes per week when one or more echolocation pulses are recorded as a function of the distance from the wind turbine plotted as the back-transformed estimates of a mixed model with negative binomial error (Appendix D) for (a) E. nilssonii and (b) Myotis spp. The mixed model takes into account the effect of the recording time, seasonality and habitat differences (Appendix D). Error bars denote approximate 95% confidence interval computed as 2 times the SE of the estimate (Appendix D). Dashed line indicates the expectation at the wind turbine (distance of 0). Error-bars that do not overlap the dashed line indicate a significant deviation (see Appendix D for formal test statistics). A "***" symbol means a p value between 0 and 0.001, "**" for a value between 0.001 and 0.01. "*" for a value between 0.01 and 0.05, "." for a value between 0.05 and 0.1, "" for a value between 0.1 and 1.

indicate swarming or dispersal behaviour of *E. nilssonii* (Ijäs et al., 2017). Despite *Myotis* spp. being considered as true forest bats in the boreal region (Vasko et al., 2020), our results indicate a temporal pattern similar to *E. nilssonii*. The second increase of activity would, similarly to *E. nilssonii*, indicate swarming behaviour or the beginning of the migration to winter roosts. At the moment, it is not clear why *Myotis* spp. activity increases around the solstice at our sites. The most plausible explanation for this would be the strong influence of *M. daubentonii* in our data, as it is the most common *Myotis* species in Finland, and the second most common species in Finland overall (Tidenberg et al., 2019). This species is known to strongly prefer wetlands for foraging and woodlands for roosting, so it is possible that we recorded calls during commuting, or that the species switches to forests to forage during the solstice period because lakes and rivers are too open and light (Vasko et al., 2020).

The avoidance effect could have ecological consequences for bats, primarily the loss of the habitats located both on their territory and near wind turbines (Rybicki and Hanski, 2013). Narrow- and edge-space foraging species - and even open-space foragers during specific periods of the year (Flaquer et al., 2009) - are strongly dependent on habitats such as forests and wetlands, or wooded linear networks for their commuting and feeding (Davidson-Watts et al., 2006; Entwistle et al., 1996; Rudolph et al., 2009), and can have small home-range, especially at high latitudes. Making these habitats and landscape features unavailable or degraded in quality, would impair the ability of these bats to easily forage in these habitats, or to fly between their roost and feeding territories through these affected areas. Depending on the layout of the wind farm, this can lead to the fragmentation of the habitat through virtual barriers that cannot be passed, or areas that are very complex to navigate. For example, within the wind farms studied here, the avoidance effect can be considered to form a no-fly zone of several square kilometres around each turbine, which bats could not use. When considering cumulative impacts, regions where the density of wind turbines is high, like the western coast of Finland, will have extensive areas of degraded habitats for bats. Our estimation of avoided area indicates that a relatively small area of Finland is impacted by wind turbines. We however postulate that the cumulative area is an underestimation, because we only included projects publicly known as of June 2022, and that many more projects are surely planned for the future. Therefore, the proportional area of Finland impacted will greatly increase in the years to come.

Very importantly, our results also indicate that also *Myotis* species are impacted by wind power plants, although they are not often considered as victims of operating turbines (Rodrigues et al., 2015). Moreover, areas from which bats are repelled because of wind turbines would no longer profit from the ecosystemic services provided by bats,

such as feeding on pest insects (Aizpurua et al., 2018; Blažek et al., 2021; Burgiełł, 2018; Garin et al., 2019).

Investigation on the causative mechanisms contributing to the avoidance effect is direly needed. Two possible "main" causes are that bats are either avoiding wind turbines themselves, or are avoiding the area surrounding the turbines. Regarding the former, several hypotheses have been proposed. Barré et al. (2018) suggested the red lighting of wind turbines as a possible source of deterrence, as it has been shown that red-lit turbines are less attractive for bats than unlit ones (Bennett & Hale, 2014), and that red lights in general can repel bats (Barré et al., 2021; Zeale et al., 2018). However, red lighting could have the opposite effect on migratory bats and attract them (Voigt et al., 2018). Moreover, the distance at which bats react negatively to artificial lighting is very low (5–20 m) when compared to the range of the observed avoidance effect in our study or others (Barré et al., 2021; Zeale et al., 2018).

Noise emitted by the turbines has also been suggested as a possible cause for the deterrence (Barré et al., 2018), as some bat species, known as passive-listening bats, avoid foraging in noisy environments (Allen et al., 2021; Luo et al., 2015; Schaub et al., 2009). However, bats can hear sounds between approximately 10 and 200 kHz (Grinnell, 1995), whereas the dispersion of sound emitted by wind turbines in this frequency range (Katinas et al., 2016) is inferior to the observed distance range of avoidance in this study (Figs. 3 and 4) or in the literature (Barré et al., 2018; Guest et al., 2022). Therefore, it is not clear how noise emitted by turbines could deter bats at such a range.

A third hypothesis is correlated to the presence of insects at wind turbines: just like for bats, it has been shown that insects are attracted and killed by wind turbines, a phenomenon that could change their distribution or decrease their abundance around wind farms (Jansson et al., 2020; Rydell et al., 2010b; Voigt, 2021). We also suggest that the change in habitat created by the construction of wind turbines in forests could also deter insects in the area, therefore indicating that turbines can either attract or repel insects, depending on the scale, habitat and species, similarly to what Leroux et al. (2022) observed with bats. The abundance and composition of insect communities around wind turbines should be investigated at a great scale to determine whether and how their presence is affected by wind turbines. Finally, it has been suggested that the turbulence created by wind turbines downwind could affect the flight of bats. However, it is not certain that bats flying near the ground or in the vegetation could be impacted by the turbulence zone (Perrow, 2017).

The second main cause behind this avoidance effect, that bats are avoiding the area surrounding wind turbines, could be explained by the changes in habitats caused by the construction of the wind turbines. It is particularly true in the context of wind farms located in woodlands (like in our study), because the establishment of turbines in this habitat entails cutting large portions of forests for turbine pads, or the roads connecting them. This has for consequences the multiplication of open areas in a landscape usually more close, an opening that is unfavourable to certain species like Myotis spp. and would explain why they are avoiding the area around wind turbines. However, our results do not show an effect of tree cover percentage on bat activity at our sites (Appendices C and D), but it is possible that our terminology is not precise enough and tree cover should be measured more precisely at each sampling site. The same phenomenon has been proposed to explain the attraction of other species (edge-space foragers mostly) to wind turbines located in forests (Kunz et al., 2007). Investigating the avoidance effect on non-operating turbines in forest could help identify the origin of such an effect: the transformed surrounding area, or the wind turbines themselves.

Besides ecological consequences for bats in the long-term, our results add proof towards the necessary improvement in consideration and protection of bats in the context of wind power development not only in boreal Europe, but also across the whole continent, starting with wind power planning (Barré et al., 2018). However, wind farm siting in Finland is complex. The country is covered by woodlands to an extent of approximately 72 %, and an additional 15 % is occupied by water bodies and wetlands. This leaves only 13 % to open lands, which is consequently also where most of the populated areas are located (Corine Land Cover data). Because developers have to stay away from populated areas, wind turbines are seldom constructed in open areas, therefore the current preferred implementation is in woodlands (Asko Ijäs, personal communication, March 30, 2022), despite guidelines not recommending this (Rodrigues et al., 2015). Moreover, the agricultural landscape in Finland is still rather fragmented and wooded, with small forest patches or hedgerows that still constitute favourable habitats for bats. Therefore, there are challenges in keeping wind turbines away from woodlands of any size in order to avoid impacts on bats. The situation can be assumed to be similar in the other countries of the European boreal biogeographic region (Estonia, Latvia, Lithuania and Sweden) with similar landscapes predominated by woodlands (Gaultier et al. 2020).

This placement of wind turbines at a landscape-scale is also an argument in favour of improving the quality of impact assessment for bats in wind power projects in Finland. If wind turbines are to be built in woodlands, it must, at a bare minimum, be confirmed the site is not an important area for bats. Only thorough site-specific surveys for bat activity and roosting can adequately assess the use and importance of the site by bats, and of the impacts the project can have on them. These surveys should consider all bat species, not only those currently considered sensitive to wind power because of collision risks. However, we acknowledge that defining the importance of a site for bats in the boreal region is not easy, especially when based solely on bat activity, as levels of activity are different to the rest of Europe. Nevertheless, we believe that thanks to studies and monitoring programs conducted in the region, it should be possible to create a reference scale for activity levels, such as has already been done in other countries (Haquart, 2016; Lintott et al., 2018).

Above all, implementing wind turbines outside woodlands should always be preferred when possible and considered synonymous with lower impacts on bats. If not, other mitigation solutions can be used. If bats only avoid operating wind turbines themselves, curtailment could be considered as an effective method to reduce the avoidance, by stopping wind turbines when bat activity is predicted to be high on site, similarly to what is done to reduce collision risk (Behr et al., 2017; Gartman et al., 2016b). A risk which also exists in Finland, with the sensitive species P. nathusii (Rodrigues et al., 2015), present in the country during the autumn migration, especially on its coastline, and that could profit from curtailment during this period (Jias et al., 2017). In the case of bats avoiding degraded areas around wind turbines, curtailment would be useless to reduce this impact. In this case, a possible solution would be to increase the quality of habitats away from wind farms. However, it is considered as a compensation measure, which should be used as a last resort, after preventive planning of wind farms has been conducted to avoid or mitigate the potential avoidance effect and habitat loss. Compensation measures are hard to implement, and would require important forest areas to be improved in quality for bats, such as growing mature forests, which takes time, or offer different features (canopy structure, dead trees, etc.) as different bat species have differing preferences. All of these would be done without reducing at all the original impacts of the projects on bats or without guaranteeing that bats would just move to the improved areas. Therefore, we recommend careful planning and siting of wind farms as the best way to mitigate its impacts on bats.

Our study shows that one species, *E. nilssonii*, and one group of species, *Myotis* spp., avoid wind turbines or their surroundings. Other species are present within our study sites but the existence of an avoidance effect on them was not tested due to the lack of sufficient data. This is the case for *P. nathusii*, a migratory species that is abundant in Finland only for a few weeks during the end of summer. Therefore, we recommend further studies on this species and other migratory species present in Finland (i.e., *Pipistrellus pygmaeus*), to determine if they are affected by wind turbines in the same way as *E. nilssonii* or the *Myotis*

species are, with a focus on wind farms located very close to the shoreline (<5 km) to maximise the chances of recording the species.

We also recommend that for future investigations, bat activity must be monitored on a broader range than 1,000 m around turbines, as the actual range of the avoidance effect is currently unknown and could be larger than currently observed here, especially for *Myotis* spp. A similar phenomenon has been observed with roads, with studies showing an impact on bats up to a distance of 5 km, but without information on whether the intensity of avoidance decreases after this distance (Claireau et al., 2019).

5. Conclusions

Our study provides evidence that *Myotis* species, and for the first time *E. nilssonii*, actively avoid wind turbines or their surroundings in a woodland context, and that the distances at which this avoidance occurs is dependent on the taxa. Long-term consequences for bats imply potential large loss of habitats that can directly affect commuting and foraging. This is also a new challenge for wind power development: as of now, this impact must be seriously considered when implementing new

turbines in any kind of habitat favourable to bats. Moreover, impacts of wind turbine operation are not targeting only species prone to collision but also others, whether they fly at rotor height or not. In regard to these results, we call for improvements in impact assessment for bats, most specifically in Finland where bats are poorly considered, but more broadly in Europe.

Declaration of Competing Interest

The authors declare that they have no known competing financial interests or personal relationships that could have appeared to influence the work reported in this paper.

Acknowledgments

This work was funded by the Societas Pro Fauna et Flora Fennica. We wish to thank Maïté Jacquot, Miika Kotila, Melissa Meierhofer, Kaisa Merimaa and Jorma Nurmi for their valued assistance in the field and Ville Vasko for help with Kaleidoscope.

Appendix A. AIC results for the *Eptesicus nilssonii* activity tested models. "dAIC" stands for difference in Akaike Information Criterion (AIC) from the minimum-AIC model, "df" is for degree of freedom. We can see that the zero-inflated negative binomial distribution, with weeks coded as a factor, has the highest df value and a very low dAIC.

Model	dAIC	df
Zero-inflated negative binomial, week as factor, distance as continuous	0.0	24
Negative binomial, week as factor, distance as factor	2.6	27
Zero-inflated negative binomial, week as factor, distance as factor	3.3	28
Zero-inflated negative binomial, week as continuous, distance as continuous	281.5	11
Zero-inflated negative binomial, week as continuous, distance as factor	285.7	15
Zero-inflated Poisson, week as factor, distance as factor	10740.0	27
Poisson, week as factor, distance as factor	12856.1	26

Appendix B. AIC results for the *Myotis* spp. Activity tested models. "dAIC" stands for difference in Akaike Information Criterion (AIC) from the minimum-AIC model, "df" is for degree of freedom. We can see that the zero-inflated negative binomial distribution, with weeks coded as a factor, has the highest df value and a very low dAIC.

Model	dAIC	DF
Zero-inflated negative binomial, week as factor, distance as continuous	0.0	24
Negative binomial, week as factor, distance as factor	5.3	27
Zero-inflated negative binomial, week as factor, distance as factor	7.3	28
Zero-inflated negative binomial, week as continuous, distance as continuous	376.5	10
Zero-inflated negative binomial, week as continuous, distance as factor	383.7	14
Zero-inflated Poisson, week as factor, distance as factor	1071.5	27
Poisson, week as factor, distance as factor	1345.0	26

Appendix C. Results of a mixed model with binomial errors on the presence (one or more calls) or absence (no call) per week of *E. Nilssonii* and *Myotis* spp. group. Intercept represents the presence at 0 m from the wind turbine during week 1 and with a tree cover under 50 % (representative of wind turbine area on our sites). A "***" symbol means a p value between 0 and 0.001, "**" for a value between 0.01 and 0.05, "." for a value between 0.05 and 0.1, " " for a value between 0.1 and 1.

Species group	Variable	Estimate	S.E.	z	Р	
E. nilssonii	(Intercept)	0.590	1.014	0.582	0.561	
	total recorded time	0.004	0.001	7.269	0.000	***
Presence at	200 m	0.919	0.869	1.058	0.290	
	400 m	0.903	0.908	0.995	0.320	
	600 m	2.220	1.032	2.151	0.031	*
	800 m	3.575	1.054	3.393	0.001	***
	1,000 m	1.788	0.920	1.943	0.052	
Presence when	tree cover $[x > 95 \%]$	1.291	0.689	1.874	0.061	
		-0.058	0.913	-0.064	0.949	

(continued on next page)

(continued)

Species group	Variable	Estimate	S.E.	Z	Р	
	tree cover					
	[95 %>x > 50 %]					
Presence during	week 2	0.803	0.676	1.188	0.235	
	week 3	2.617	0.796	3.288	0.001	**
	week 4	1.448	0.940	1.541	0.123	
	week 5	-0.330	0.682	-0.485	0.628	
	week 6	-0.335	0.827	-0.405	0.686	
	week 7	-3.802	0.763	-4.981	0.000	***
	week 8	-0.559	0.599	-0.934	0.350	
	week 9	-1.843	0.582	-3.168	0.002	**
	week 10	-0.772	0.588	-1.313	0.189	
	week 11	-1.360	0.583	-2.334	0.020	*
	week 12	-0.769	0.591	-1.301	0.193	
	week 13	0.200	0.580	0.346	0.730	
	week 14	20.120	5492	0.004	0.997	
	week 15	1.998	0.797	2.508	0.012	*
	week 16	1.862	0.758	2.457	0.014	*
Myotis spp.	(Intercept)	-0.804	0.856	-0.940	0.347	
	total recorded time	0.004	0.001	8.560	< 2e-16	***
Presence at	200 m	0.826	0.625	1.322	0.186	
	400 <i>m</i>	1.031	0.646	1.597	0.110	
	600 m	0.577	0.684	0.843	0.399	
	800 m	1.201	0.675	1.779	0.075	
	1,000 m	1.348	0.667	2.021	0.043	*
Presence when	tree cover $[x > 95\%]$	-0.153	0.456	-0.335	0.738	
	tree cover	-0.859	0.645	-1.331	0.183	
	[95 %>x > 50 %]					
Presence during	week 2	0.897	0.571	1.571	0.116	
-	week 3	3.734	0.594	6.290	0.000	***
	week 4	2.275	0.671	3.389	0.001	***
	week 5	1.515	0.586	2.585	0.010	**
	week 6	-0.014	0.615	-0.023	0.982	
	week 7	-1.476	0.648	-2.279	0.023	*
	week 8	0.693	0.554	1.251	0.211	
	week 9	-2.196	0.647	-3.394	0.001	***
	week 10	-2.196	0.647	-3.394	0.001	***
	week 11	-1.917	0.623	-3.076	0.002	**
	week 12	-1.234	0.690	-1.788	0.074	
	week 13	-1.710	0.552	-3.100	0.002	**
	week 14	-0.172	0.495	-0.347	0.729	
	week 15	0.958	0.496	1.932	0.053	
	week 16	2.297	0.542	4.240	0.000	***

Appendix D. Results of a mixed model with binomial errors on the activity (in positive minutes) per week of *E. Nilssonii* and *Myotis* spp. group. Intercept represents the activity at 0 m from the wind turbine during week 1 and with a tree cover under 50 % (representative of wind turbine area on our sites). A "***" symbol means a p value between 0 and 0.001, "**" for a value between 0.001 and 0.01, "*" for a value between 0.01 and 0.05, "." for a value between 0.05 and 0.1, " " for a value between 0.1 and 1.

Species group	Variable	Estimate	S.E.	Z	Р	
E. nilssonii	(Intercept)	1.544	0.488	3.162	0.002	**
	total recorded time	0.002	0.000	12.692	< 2e-16	***
Activity at	200 m	0.446	0.410	1.088	0.276	
	400 m	0.337	0.425	0.794	0.427	
	600 m	-0.006	0.446	-0.014	0.989	
	800 m	0.879	0.438	2.005	0.045	*
	1,000 m	0.501	0.433	1.158	0.247	
Activity when	tree cover $[x > 95 \%]$	0.373	0.302	1.233	0.218	
	tree cover	-0.143	0.414	-0.344	0.731	
	[95 %>x > 50 %]					
Activity during	week 2	1.477	0.240	6.161	0.000	***
	week 3	2.058	0.215	9.566	< 2e-16	***
	week 4	1.212	0.238	5.096	0.000	***
	week 5	0.075	0.237	0.318	0.751	
	week 6	-0.389	0.255	-1.525	0.127	
	week 7	-1.789	0.284	-6.301	0.000	***
	week 8	-0.476	0.253	-1.880	0.060	
	week 9	-0.346	0.239	-1.450	0.147	
	week 10	-0.137	0.235	-0.582	0.561	
	week 11	-0.233	0.237	-0.983	0.326	
	week 12	0.107	0.247	0.433	0.665	
	week 13	1.000	0.221	4.535	0.000	***

(continued on next page)

S.P. Gaultier et al.

(continued)

Species group	Variable	Estimate	S.E.	Z	Р	
	week 14	1.745	0.221	7.889	0.000	***
	week 15	1.438	0.218	6.588	0.000	***
	week 16	1.833	0.222	8.273	< 2e-16	***
Myotis spp.	(Intercept)	-0.793	0.570	-1.391	0.164	
	total recorded time	0.002	0.000	10.869	< 2e-16	***
Activity at	200 m	0.222	0.387	0.573	0.567	
	400 m	0.234	0.394	0.595	0.552	
	600 m	0.023	0.416	0.054	0.957	
	800 m	0.239	0.410	0.582	0.560	
	1,000 m	0.260	0.409	0.636	0.525	
Activity when	tree cover $[x > 95 \%]$	-0.217	0.280	-0.775	0.439	
	tree cover	-0.001	0.382	-0.003	0.998	
	[95 %>x > 50 %]					
Activity during	week 2	1.948	0.314	6.211	0.000	***
	week 3	2.741	0.284	9.645	< 2e-16	***
	week 4	2.289	0.301	7.599	0.000	***
	week 5	1.382	0.306	4.509	0.000	***
	week 6	0.928	0.321	2.892	0.004	**
	week 7	0.302	0.342	0.885	0.376	
	week 8	1.230	0.333	3.696	0.000	***
	week 9	-0.905	0.395	-2.290	0.022	*
	week 10	-0.750	0.385	-1.951	0.051	
	week 11	-0.772	0.385	-2.003	0.045	*
	week 12	-0.198	0.404	-0.490	0.624	
	week 13	-0.360	0.328	-1.097	0.273	
	week 14	0.813	0.297	2.734	0.006	**
	week 15	1.059	0.295	3.588	0.000	***
	week 16	1.875	0.294	6.384	0.000	***

Appendix E Activity of *Pipistrellus nathusii* in positive minutes, depending on the week and site. Sites are coloured based on their distance to the sea, with black being the closest and white the most distant to the sea.



Appendix F Cumulated habitat loss on studied bat species, for current and future wind power projects in Finland.

	E. nilssonii		Myotis spp.		
km ² Percentage of Finland area		Percentage of Finland area	km ²	Percentage of Finland area	
Area per turbine Area for:	2,01	-	3,14	_	
Operating turbines	2235,81	0,66	3493,45	1,03	
Turbines under construction	1584,37	0,47	2475,58	0,73	
Permitted turbines	1109,86	0,33	1734,16	0,51	
Planned turbines	9908,33	2,93	15481,77	4,57	
Cumulated:	14838,37	4,38	23184,95	6,85	

Landscape and Urban Planning 231 (2023) 104636

References

Aizpurua, O., Budinski, I., Georgiakakis, P., Gopalakrishnan, S., Ibañez, C., Mata, V., ... Alberdi, A. (2018). Agriculture shapes the trophic niche of a bat preying on multiple pest arthropods across Europe: Evidence from DNA metabarcoding. *Molecular Ecology*, 27(3), 815–825. https://doi.org/10.1111/mec.14474

Allen, L. C., Hristov, N. I., Rubin, J. J., Lightsey, J. T., & Barber, J. R. (2021). Noise distracts foraging bats. Proceedings of the Royal Society B: Biological Sciences, 288 (1944), 20202689. https://doi.org/10.1098/rspb.2020.2689

Aminoff, S. (2014). Vindkraftens inverkan på fladdermöss i Finland – en pilotstudie om undersökningsmetoderna I finländska förhållanden. University of Helsinki.

Barré, K., Kerbiriou, C., Ing, R.-K., Bas, Y., Azam, C., Le Viol, I., & Spoelstra, K. (2021). Bats seek refuge in cluttered environment when exposed to white and red lights at night. *Movement Ecology*, 9(1), 3. https://doi.org/10.1186/s40462-020-00238-2

Barré, K., Le Viol, I., Bas, Y., Julliard, R., & Kerbiriou, C. (2018). Estimating habitat loss due to wind turbine avoidance by bats: Implications for European siting guidance. *Biological Conservation*, 226, 205–214. https://doi.org/10.1016/j. biocon.2018.07.011

Behr, O., Brinkmann, R., Hochradel, K., Mages, J., Korner-Nievergelt, F., Niermann, I., ... Nagy, M. (2017). Mitigating bat mortality with turbine-specific curtailment algorithms: A model based approach. In J. Köppel (Ed.), Wind energy and wildlife interactions (pp. 135–160). Springer International Publishing. https://doi.org/ 10.1007/978-3-319-51272-3.8.

Bennett, V. J., & Hale, A. M. (2014). Red aviation lights on wind turbines do not increase bat-turbine collisions: Bats are not attracted to aviation lighting. *Animal Conservation*, 17(4), 354–358. https://doi.org/10.1111/acv.12102

Conservation, 17(4), 354-358. https://doi.org/10.1111/acv.12102
Blažek, J., Konečný, A., & Bartonička, T. (2021). OPEN Bat aggregational response to pest caterpillar emergence. *Scientific Reports*, 12.

Blomberg, A. (2016). Tuulivoiman lepakoille aiheuttamat riskit ja niiden lieventäminen Suomessa. University of Turku.

- Bolker, B. M., Brooks, M. E., Clark, C. J., Geange, S. W., Poulsen, J. R., Stevens, M. H. H., & White, J.-S.-S. (2009). Generalized linear mixed models: A practical guide for ecology and evolution. *Trends in Ecology & Evolution*, 24(3), 127–135. https://doi. org/10.1016/j.tree.2008.10.008
- Brooks, M., Kristensen, K., Benthem, K., van Magnusson, A. J., Berg, C. W., Nielsen, A., Skaug, H., Mächler, M., & Bolker, B. M. (2017). GlmmTMB balances speed and flexibility among packages for zero-inflated generalized linear mixed modeling. *The R Journal*, 9(2), 378. https://doi.org/10.32614/RJ-2017-066
- Buchmayr, A., Verhofstadt, E., Van Ootegem, L., Thomassen, G., Taelman, S. E., & Dewulf, J. (2022). Exploring the global and local social sustainability of wind energy technologies: An application of a social impact assessment framework. *Applied Energy*, 312, Article 118808. https://doi.org/10.1016/j.apenergy.2022.118808

Burgiełł, P. (2018). Potencjał nietoperzy w biologicznej ochronie lasu. *Sylwan, 162,* 12. Claireau, F., Bas, Y., Pauwels, J., Barré, K., Machon, N., Allegrini, B., ... Kerbiriou, C.

(2019). Major roads have important negative effects on insectivorous bat activity. *Biological Conservation, 235*, 53–62. https://doi.org/10.1016/j.biocon.2019.04.002 Cryan, P. M., & Barclay, R. M. R. (2009). Causes of bat fatalities at wind turbines:

hypotheses and predictions. Journal of Mammalogy, 90(6), 1330–1340. https://doi. org/10.1644/09-MAMM-S-076R1.1

Dai, K., Bergot, A., Liang, C., Xiang, W.-N., & Huang, Z. (2015). Environmental issues associated with wind energy – A review. *Renewable Energy*, 75, 911–921. https://doi. org/10.1016/j.renene.2014.10.074

Davidson-Watts, I., Walls, S., & Jones, G. (2006). Differential habitat selection by *Pipistrellus Pipistrellus* and *Pipistrellus* pygmaeus identifies distinct conservation needs for cryptic species of echolocating bats. *Biological Conservation*, 133(1), 118–127. https://doi.org/10.1016/j.biocon.2006.05.027

Edenhofer, O., Madruga, R. P., Sokona, Y., Seyboth, K., Matschoss, P., Kadner, S., Zwickel, T., Eickemeier, P., Hansen, G., Schlömer, S., & von Stechow, C. (Eds.). (2012). Renewable energy sources and climate change mitigation: Special report of the Intergovernmental Panel on Climate Change (p. 1088). Intergovernmental Panel on Climate Change. http://choicereviews.org/review/10.5860/CHOICE.49-6309.

Ellerbrok, J. S., Delius, A., Peter, F., Farwig, N., & Voigt, C. C. (2022). Activity of forest specialist bats decreases towards wind turbines at forest sites. *Journal of Applied Ecology*. https://doi.org/10.1111/1365-2664.14249, 1365-2664.14249.

Ember. (2021, April 6). *Global Electricity Review 2021 Explorer*. Ember. https://emberclimate.org/data/global-electricity/.

Entwistle, A. C., Racey, P. A., & Speakman, J. R. (1996). Habitat exploitation by a gleaning bat, Plecotus auritus. Philosophical Transactions of the Royal Society of London. Series B: Biological Sciences, 351(1342), 921–931. https://doi.org/10.1098/ rstb.1996.0085

Flaquer, C., Puig-Montserrat, X., Goiti, U., Vidal, F., Curcó, A., & Russo, D. (2009). Habitat selection in Nathusius' Pipistrelle (*Pipistrellus nathusii*): The importance of wetlands. Acta Chiropterologica, 11(1), 149–155. https://doi.org/10.3161/ 150811009X465767

Garin, I., Aihartza, J., Goiti, U., Arrizabalaga-Escudero, A., Nogueras, J., & Ibáñez, C. (2019). Bats from different foraging guilds prey upon the pine processionary moth. *PeerJ*, 7, Article e7169. https://doi.org/10.7717/peerj.7169

Gartman, V., Bulling, L., Dahmen, M., Geißler, G., & Köppel, J. (2016a). Mitigation measures for wildlife in wind energy development, consolidating the state of knowledge — Part 1: Planning and siting, construction. Journal of Environmental Assessment Policy and Management, 18(03), 1650013. https://doi.org/10.1142/ \$1464333216500137

Gartman, V., Bulling, L., Dahmen, M., Geißler, G., & Köppel, J. (2016b). Mitigation measures for wildlife in wind energy development, consolidating the state of knowledge — Part 2: Operation, decommissioning. *Journal of Environmental* Assessment Policy and Management, 18(03), 1650014. https://doi.org/10.1142/ S1464333216500149

Gaultier, S. P., Blomberg, A. S., Ijäs, A., Vasko, V., Vesterinen, E. J., Brommer, J. E., & Lilley, T. M. (2020). Bats and wind farms: The role and importance of the baltic sea countries in the european context of power transition and biodiversity conservation. *Environmental Science & Technology*, 54(17), 10385–10398. https://doi.org/ 10.1021/acs.est.0c00070

Grinnell, A. D. (1995). Hearing in bats: An overview. In A. N. Popper, & R. R. Fay (Eds.), Hearing by bats (pp. 1–36). Springer. https://doi.org/10.1007/978-1-4612-2556-0_1.

Guest, E. E., Stamps, B. F., Durish, N. D., Hale, A. M., Hein, C. D., Morton, B. P., ... Fritts, S. R. (2022). An updated review of hypotheses regarding bat attraction to wind turbines. *Animals*, *12*(3), 343. https://doi.org/10.3390/ani12030343 Haquart, A. (2016). ACTICHIRO – un référentiel pour l'interprétation des

dénombrements de chiroptères avec les méthodes acoustiques en France. Symbioses, 34, 1–8.

Hayes, M. A., Hooton, L. A., Gilland, K. L., Grandgent, C., Smith, R. L., Lindsay, S. R., ... Goodrich-Mahoney, J. (2019). A smart curtailment approach for reducing bat fatalities and curtailment time at wind energy facilities. *Ecological Applications, 29* (4), Article e01881. https://doi.org/10.1002/eap.1881

Hein, C. D., & Schirmacher, M. R. (2016). Impact of wind energy on bats: A summary of our current knowledge. *Human-Wildlife Interactions*, 10(1), 19–27.

Ijäs, A., Kahilainen, A., Vasko, V. V., & Lilley, T. M. (2017). Evidence of the migratory bat, *Pipistrellus nathusii*, aggregating to the coastlines in the Northern Baltic Sea. Acta Chiropterologica, 19(1), 127. https://doi.org/10.3161/15081109ACC2017.19.1.010

Jansson, S., Malmqvist, E., Brydegaard, M., Åkesson, S., & Rydell, J. (2020). A Scheimpflug lidar used to observe insect swarming at a wind turbine. *Ecological Indicators*, 117, Article 106578. https://doi.org/10.1016/j.ecolind.2020.106578

Katinas, V., Marčiukaitis, M., & Tamašauskienė, M. (2016). Analysis of the wind turbine noise emissions and impact on the environment. *Renewable and Sustainable Energy Reviews*, 58, 825–831. https://doi.org/10.1016/j.rser.2015.12.140

Kunz, T. H., Arnett, E. B., Erickson, W. P., Hoar, A. R., Johnson, G. D., Larkin, R. P., ... Tuttle, M. D. (2007). Ecological impacts of wind energy development on bats: Questions, research needs, and hypotheses. *Frontiers in Ecology and the Environment*, 5 (6), 315–324. https://doi.org/10.1890/1540-9295(2007)5[315:EIOWED]2.0.CO;2

Leroux, C., Kerbiriou, C., Le Viol, I., Valet, N., & Barré, K. (2022). Distance to hedgerows drives local repulsion and attraction of wind turbines on bats: Implications for spatial siting. *Journal of Applied Ecology*, 59(8), 2142–2153. https://doi.org/10.1111/1365-2664.14227

Lintott, P. R., Davison, S., van Breda, J., Kubasiewicz, L., Dowse, D., Daisley, J., ... Mathews, F. (2018). Ecobat: An online resource to facilitate transparent, evidencebased interpretation of bat activity data. *Ecology and Evolution*, 8(2), 935–941. https://doi.org/10.1002/ece3.3692

Luke. (2017, February 22). Age of forest stands on forest land (1000 ha) by region, age class and inventory. Natural Resources Institute Finland (Luke). https://statdb.luke.fi/ PXWeb/pxweb/en/LUKE_U4%20Metsa_06%20Metsavarat/1.13_ Metsikoiden_ikaluokat_metsamaalla.px/chart/chartViewColumn/?rxid=f8ed5f38-9607-4c55-91c9-791d660b234e.

Luo, J., Siemers, B. M., & Koselj, K. (2015). How anthropogenic noise affects foraging. Global Change Biology, 21(9), 3278–3289. https://doi.org/10.1111/gcb.12997

Millon, L., Colin, C., Brescia, F., & Kerbiriou, C. (2018). Wind turbines impact bat activity, leading to high losses of habitat use in a biodiversity hotspot. *Ecological Engineering*, 112, 51–54. https://doi.org/10.1016/j.ecoleng.2017.12.024

Millon, L., Julien, J.-F., Julliard, R., & Kerbiriou, C. (2015). Bat activity in intensively farmed landscapes with wind turbines and offset measures. *Ecological Engineering*, 75, 250–257. https://doi.org/10.1016/j.ecoleng.2014.11.050

Minderman, J., Gillis, M. H., Daly, H. F., & Park, K. J. (2017). Landscape-scale effects of single- and multiple small wind turbines on bat activity. *Animal Conservation*, 20(5), 455–462. https://doi.org/10.1111/acv.12331

Minderman, J., Pendlebury, C. J., Pearce-Higgins, J. W., & Park, K. J. (2012). Experimental evidence for the effect of small wind turbine proximity and operation on bird and bat activity. *PLoS One1*, 7(7), Article e41177. https://doi.org/10.1371/ journal.pone.0041177

Perrow, M. (2017). Wildlife and wind farms, conflicts and solutions (Vol. 1). Onshore: Potential Effects. Pelagic Publishing.

Reusch, C., Lozar, M., Kramer-Schadt, S., & Voigt, C. C. (2022). Coastal onshore wind turbines lead to habitat loss for bats in Northern Germany. *Journal of Environmental Management*, 310, Article 114715. https://doi.org/10.1016/j.jenvman.2022.114715

Richardson, S. M., Lintott, P. R., Hosken, D. J., Economou, T., & Mathews, F. (2021). Peaks in bat activity at turbines. *Scientific Reports*, *11*(1), 7.

Rodrigues, L., Bach, L., Dubourg-Savage, M.-J., Karapandza, B., Kovac, D., Kervyn, T., Dekker, J., Kepel, A., Bach, P., Collins, J., Harbusch, C., Park, K., Micevski, B., & Minderman, J. (2015). *Guidelines for Consideration of Bats in Wind Farm Projects -Revision 2014* (p. 2015). Bonn: EUROBATS Publication Serie, UNEP/EUROBATS.

Roeleke, M., Blohm, T., Kramer-Schadt, S., Yovel, Y., & Voigt, C. C. (2016). Habitat use of bats in relation to wind turbines revealed by GPS tracking. *Scientific Reports*, 6(1), 28961. https://doi.org/10.1038/srep28961

Roscioni, F., Russo, D., Di Febbraro, M., Frate, L., Carranza, M. L., & Loy, A. (2013). Regional-scale modelling of the cumulative impact of wind farms on bats. *Biodiversity and Conservation*, 22(8), 1821–1835. https://doi.org/10.1007/s10531-013-0515-3

Rudolph, B.-U., Liegl, A., & Von Helversen, O. (2009). Habitat selection and activity patterns in the greater mouse-eared Bat Myotis Myotis. Acta Chiropterologica, 11(2), 351–361. https://doi.org/10.3161/150811009X485585

Rybicki, J., & Hanski, I. (2013). Species-area relationships and extinctions caused by habitat loss and fragmentation. *Ecology Letters*, 16, 27–38. https://doi.org/10.1111/ ele.12065

- Rydell, J. (1989). Feeding activity of the northern bat *Eptesicus* nilssoni during pregnancy and lactation. *Oecologia*, 80(4), 562–565. https://doi.org/10.1007/BF00380082
- Rydell, J. (1991). Seasonal use of illuminated areas by foraging northern bats *Eptesicus* nilssoni. *Ecography*, 14(3), 203–207. https://doi.org/10.1111/j.1600-0587.1991. tb00653 x
- Rydell, J. (1992). Occurrence of bats in northernmost Sweden (65°N) and their feeding ecology in summer. *Journal of Zoology*, 227(3), 517–529. https://doi.org/10.1111/ j.1469-7998.1992.tb04412.x
- Rydell, J., Bach, L., Dubourg-Savage, M.-J., Green, M., Rodrigues, L., & Hedenström, A. (2010a). Bat mortality at wind turbines in Northwestern Europe. Acta Chiropterologica, 12(2), 261–274. https://doi.org/10.3161/150811010X537846
- Rydell, J., Bach, L., Dubourg-Savage, M.-J., Green, M., Rodrigues, L., & Hedenström, A. (2010b). Mortality of bats at wind turbines links to nocturnal insect migration? *European Journal of Wildlife Research*, 56(6), 823–827. https://doi.org/10.1007/ s10344-010-0444-3
- Saidur, R., Rahim, N. A., Islam, M. R., & Solangi, K. H. (2011). Environmental impact of wind energy. *Renewable and Sustainable Energy Reviews*, 15(5), 2423–2430. https:// doi.org/10.1016/j.rser.2011.02.024
- Schaub, A., Ostwald, J., & Siemers, B. M. (2009). Foraging bats avoid noise. Journal of Experimental Biology, 212(18), 3036. https://doi.org/10.1242/jeb.037283
- Sundseth, K. (2009). Natura 2000 in the Boreal Region. European Commission, Directorate-General for the Environment. https://data.europa.eu/doi/10.2779/ 84505.
- Tidenberg (formerly Kyheröinen), E.-M., Liukko, U.-M., & Stjernberg, T. (2019). Atlas of finnish bats. Annales Zoologici Fennici, 56(1–6), 207. https://doi.org/10.5735/ 086.056.0117.

- Vasko, V., Blomberg, A. S., Vesterinen, E. J., Suominen, K. M., Ruokolainen, L., Brommer, J. E., ... Lilley, T. M. (2020). Within-season changes in habitat use of forest-dwelling boreal bats. *Ecology and Evolution*, 10(9), 4164–4174. https://doi. org/10.1002/ece3.6253
- Voigt, C. C. (2021). Insect fatalities at wind turbines as biodiversity sinks. Conservation Science and Practice, 3(5). https://doi.org/10.1111/csp2.366
- Voigt, C. C., Kaiser, K., Look, S., Scharnweber, K., & Scholz, C. (2022). Wind turbines without curtailment produce large numbers of bat fatalities throughout their lifetime: A call against ignorance and neglect. *Global Ecology and Conservation*, 37, Article e02149. https://doi.org/10.1016/j.gecco.2022.e02149
- Voigt, C. C., Lehnert, L. S., Petersons, G., Adorf, F., & Bach, L. (2015). Wildlife and renewable energy: German politics cross migratory bats. *European Journal of Wildlife Research*, 61(2), 213–219. https://doi.org/10.1007/s10344-015-0903-y
- Voigt, C. C., Rehnig, K., Lindecke, O., & Pētersons, G. (2018). Migratory bats are attracted by red light but not by warm-white light: Implications for the protection of nocturnal migrants. *Ecology and Evolution*, 8(18), 9353–9361. https://doi.org/ 10.1002/ece3.4400
- Wind Power in Finland. (2022). Etha Wind. http://map.seadv.eu/#17/63.09480/ 21.61309.
- Zeale, M. R. K., Stone, E. L., Zeale, E., Browne, W. J., Harris, S., & Jones, G. (2018). Experimentally manipulating light spectra reveals the importance of dark corridors for commuting bats. *Global Change Biology*, 24(12), 5909–5918. https://doi.org/ 10.1111/gcb.14462